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SN % % 15m0kHs | 15~645% | 65LA Lk
7 ¥ | 40,206 | 109,889 56,334 53,555 24,002 81,017 4,870
W€ 1 T H 619 1,753 906 847 400 1,271 76
W% 2 7T H 869 2,313 1,187 1,126 422 1,787 154
¥ £ 8 T H 623 1,785 889 846 276 1,254 205
W ® 4 T H 772 1,893 964 929 248 1,440 205
W% 5 T H 573 1,391 117 674 195 1,031 165
“HREBE1TH 1,087 2,492 1,244 1,248 357 1,944 191
YHRE2TH 1,573 3,701 1,964 1,737 7117 2,780 204
YRES3TH 781 1,918 1,003 915 875 1,433 110
i % 1 T H 1,116 2,157 1,141 1,016 373 1,695 89
d % 2 T H 1,626 3,520 1,867 1,653 723 2,707 90
d % 3 T H 1,774 3,883 2,074 1,809 765 2,980 138
dk % 4 T B 726 1,690 887 803 354 1,292 44
WL 1T E 1,045 2,606 1,351 1,255 504 1,961 | 141
W iaL o2 T B 757 2,007 1,012 995 344 1,448 215
wmiL 3 T B 711 1,916 968 948 294 1,393 229
WL 4 T B 1,408 3,541 1,863 1,678 745 2,587 209
Wi 5 T H 755 1,814 976 838 347 | . 1,402 65
Wi 6 T H 749 1,658 892 766 343 1,246 69
¥+ R 17TAH 624 1,459 802 657 345 1,082 32
g+ R 2 TH 933 2,245 1,179 1,066 491 1,707 41
W £ B 3T H 1,078 2,408 1,321 1,087 524 1,838 46
=+t R4 TH 553 1,280 709 571 262 983 35
B+ R S5 TH 814 1,746 994 752 351 1,356 39
H® 1 T 8 485 1,179 607 572 231 912 36
® ¥ 2 T H 621 1,539 842 697 337 1,151 51
B ¥ 3 7T H 526 1,694 849 845 388 1,228 78
gmEon1TAH 24 35 26 9 2 32 1
ggiE D 27T H 23 45 32 13 4 40 1
BWMEY3TH 23 217 24 3 0 27 0
E M 1 T B 220 791 377 414 142 623 26
E M 2 T B 464 1,628 823 805 446 1,147 35
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wOH 5 T 155505 | 15~64i% | 65kl L
= M 3 T H 1,338 4,467 2,229 2,238 1,207 3,124 136
E M 4 T H 245 847 422 425 163 624 60
4 1 T 8 360 853 421 432 187 637 29
4 -2 T B 406 964 441 523 175 743 46
4 )1 8 T H 334 923 492 431 236 668 19
4 JIl 4 T B 435 1,376 673 708 231 1,083 62
£ X 1 T H 259 841 434 407 175 625 41
£ X 2 T H 579 2,072 1,008 1,064 343 1,632 97
#F X 38 T H 480 1,633 828 805 304 1,270 59
## XK 4 T H 309 1,126 | - 569 557 233 836 57
% X 1 T H 1,200 13,034 1,603 1,431 648 2,219 167
% X 2 T H 1,103 3,032 1,575 1,457 601 2,271 160
A #® 1 T B X X X X X X X
A # 2 T H 744 2,638 1,318 1,320 747 1,837 54
A8 3 T H 566 2,032 1,020 1,012 500 1,486 46
A #H 4 T H 555 1,586 839 147 307 1,215 64
A®B S5 T B 299 1,122 539 583 260 828 34
A # 6 T H 772 2,717 1,355 1422 | 783 1,964 80
2K 1 T B 1,064 3,245 1,574 1,671 911 2,258 76
¥ K 2 T H 894 2,965 1,462 1,503 871 1,985 109
% K& 3 T H 417 1455 709 746 328 1,065 62
E R’ 4 T H 461 1,599 761 838 327 1,189 83
¥ K 5 T H 911 3,103 1495 1,608 829 2,204 70
=) &’ 2 T H 666 2,421 1,179 1,242 689 1,656 76
# w% 3 T H 52 162 3 89 44 108 10
= b X X X X X X X
H ) H 1,512 4,697 2,368 2,329 1,424 3,165 108
i3 14 15 14 1 0 15 0
= W 2717 838 441 397 2217 572 39




